XYZ,=95.04,100.0, 108.89 —74 Parameter: Y 74 XYZ,=96.42,100.0, 82.49 —74 Parameter: Y 74
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6 Ostwaldcolours (0),C,,
colour space Cyg 5, Y)
v=18Y,

p=const
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6 Ostwaldcolours (0)*(:,15‘ =const
colour space Cyg 5, Y)

Y=18Y,

lllumin. D65, Y 90 0 Yy=3. 6 0 0 50 Illumin. D50, Y 90 O Y, =3 6 —50
ame Range X Ny Aoa b g A B, el Y, Lo Lo Ly, iame Range X Ny A e c, Uoe Uop Unor Unae

R, 567_775 49.44 3271 355 0576 0.331596 4891223 0034 0.683 406 256 558 27 181139 145 14|R_ 570_775 5358 3433 271 0591 0.378598 401127 -0031 0681 525 256 585 25 19 152 158 1
493775 63.04 7653 877 0.424 0515570 463061 -0.036 0311 -10 596 59.6 91 4.25 40.1 410 39|V" 496 775 67.74 7635 5.98 0.451 0.508573 468067 -0.031 0.299 25 570 57.0 87 424 400 409 339
G, 493 567 16,67 47.05 874 0.23 0649535 5350184 ~0.050 0519 ~50.7 339 6L0 146 261 242 24.9 24|G. 496 570 17.28 4526 5.95 0.252 0.6 538 538,215 -0.052 0521 -50.0 313 59.0 147 251 230 238 2
380_567 30,61 5152 88.16 0,179 0.302489 5960.23 -0.547 0.433 ~49.6 -25.6 55.8 207 2.86 269 27.7 24|C’ 380 570 27.64 499 66.78 0.191 0.345491 5980.235 -0.535 0469 ~52.5 -25.6 5685 205 2.77 260 26.7 2
6 380493 17.01 7.7 82.950.156 0.071463 5700671 -3.444 3096 10 -50.6 59.6 271 0.42 ~167.0167.q|e’ 380 496 13.48 7.88 635 0.158 0.002468 5730.526 -3.223 2.896 -25 -57.0 57.0 267 0.43 ~162D51519.4
M 567_493 63.38 37.18 82.98 0.345 0.2025350535 1.161 -0.714 0.656 50.7 -33.9 610 326 206 17.4 180 14|’ 570_496 63.94 3897 63,54 0.384 0.234538c5381.17 ~0.652 0.606 50.0 -313 59.0 327 216 187 19.4 1
w380 775 8553 90.0 980 0.312 0320 90% 0,616 -0.348 001 00 00 00 0 499 459 469 40J{W]380 7758678 90.0 74.240.345 0.358 2% 0657 -0.329 001 00 00 00 0 499 459 46.9 40.
Ny 380775342 36 392 03120329 3% 0616 -0.348 001 00 00 00 180 0.19 -27@0a7-80f|N, 380775347 36 296 03450358 % 0657 -0.329 001 00 00 00 181 019 ~27-B0A740.
U 380775 17.1 180 196 0312 0329 18% 0616 -0.348 0.01 00 00 00 184 10 -04 00 00|[u] 3807751735 180 14840345 0.358 18% 0657 -0329 0.01 0.0 00 00 186 10 -0.4 00 0.
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XYZ,=100.93, 100.0 , 64.68 -74 Parameter: Y 74 XYZ,=109.84, 99.99 , 35.58 —74 Parameter: Y 74

A=2560,-3,)Y I Y &name 100 ' I Y &name 100 '
88y,

=1, by 2,,=1, byy=-04
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=[A24B 5]1/2

6 Ostwa\dcolours 0).Cp,
colour space Cyg 5, )
v=18Y,

S piAtmi
6 Ostwaldcolours (0),C,g
colour space C,g 5, Y)
Y=18Y,
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s
lllumin. P40, Y, 900 Yy 36 0 50 lllumin. A0O, Y '50

ame Range x ¥ A A3 b G A By Cgahg, Y, Lig Ly Ly Ly, |Name Range X o A2 by A, s2Ms2 Yo Lo v

R, 573775 57.85 35.23 213 0607 055 oo 43153 00k oler sh2 Ba a5 108 58" 105 R, 579175 so.67 368 118 038 0354505 oo 1478 0032 0727 507 296 666 26 203170 177 1
498775 73.71 77.38 525 0471 0494576 468073 -0.035 0301 25 582 583 87 4.29 40.4 414 3|V’ 504 7758479 77.87 296 0511 0.47 581 4740.854 -0.033 0.318 5.1 618 620 85 432 40.7 416 3¢[4
G 498 573 10.12 4539 521 0.274 065 540 5400252 ~0.050 054 -52.7 313 613 149 252 23.1 238 2: o 504 570 22.67 44.42 2.93 0323 0.634547 5470337 ~0.066 057 -545 321 633 149 2.46 225 232 2
c 380 57327.17 49.0 52.36 0.211 0381493 6000265 ~0.555 0501 ~55.2 -26.8 61.4 205 2.72 25.4_ 26.2 24|C” 380 579 26.86 4755 28.790.26 0.46 499 6050.326 -0.605 0.561 -59.7 2.6 6.6 206 2.64 24.5 252 2
67 330_498 1131 685 49.24 0.167 0.101468 5760.568 ~3.733 34 -25 -58.2 563 267 0.38 -1823.91810.d[8. 380504 7.74 6.36 27.0 0.188 0.154474 56810.505 4241 3898 -5.1 -618 62.0 265 0.35 ~19%61921 1]
M 573 498 65.89 38.84 49.27 0,427 0.25254005401.26 -0.659 0.631 527 -313 61.3 329 2.15 186 19.3 14" 579 504 69.85 3981 27.03051 0.291547c5471376 ~0.679 0.636 545 -32.1 63.3 320 221 193 20.0 1
w5 380_775 90.83 90.0 58.220.379 0.376 90% 0.717 -0.335 001 00 00 00 0 499 459 469 40f|W;380_775 98.86 89.99 32.020.447 0407 90% 0.628 -0.355 001 00 0.0 00 O 499 459 469 40)
N,'380 775363 36 232 0379 0376 3% 0717 -0336 001 00 00 00 180 0.9 -27-@ca7-20.]|N 380 775395 350 128 0447 0.407 3% 0828 -0355 001 00 00 00 18 0.19 -27-80-A740.
U, 380_775 1816 180 11640379 0376 18% 0717 -0.33 001 0.0 00 00 169 10 -0.4 00 0.0||u] 38077519.77 1799 6.4 0447 0.407 18% 0828 -0355 001 00 00 00 180 10 -04 00 0|
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